Weight (kg)

Australian Boys (born 1991-1994): Name:

Weight at Birth

5.0 I 1 I 1

Date of Birth: / /

3.0kg x2.2=6.61b

Divide pounds by 2.2 to get kg:
4.5 7.0 lb +-2.2=3.2kg

Multiply kilograms by 2.2 to get pounds: =
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This curve was created in 2013 by the Forgotten Diseases
Research Foundation. For educational use.
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Weeks gestation: "} D

Birthweight: kg or Ib

Percentile:

35 36 37 38 39 40 41 42 43
Gestatational age (weeks)

Curve created using data in Roberts CL et al. (1999) Australian national
birthweight percentiles by gestational age. Med J Aust 170:114-118. ©
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Copyright 1999 The Medical Journal of Australia. Reproduced with permission.





